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AB = /(1) + (6)

AB =+/1+36
AB = 37units

BC =/(x, —%)” + (¥, — %)’
BC = /(7—6) +(~2—-6)’
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[AABD] =%[><1(y2 V) + % (Y5 = V1) + X (Y1 = ¥2)]
[AABD] :%[—5(—5—5)+ (<4)(5-7) +4(7+5)]
[AABD] = %[—5(—10) —4(~2) +4(12)]

[AABD] =%[50+8+48]

[AABD] =%x106

[AABD | = 53sq.units
L L0 Sk 3KBDCadi

B(X:¥u) = (=5,7)
D(le yz) = (4v5)
C(X31 ys) =(-1,-6)

[ABDC]= %[Xl(yz —¥3)+ X, (Y3 = V) + X (Y, — V)]
[ABDC] = %[—4(5+ 6)+ 4(~6+5)+ (-1)(-5-5)]
[ABDC] = %[—4(11) +4(-1)+) + (-1)(-10)]
[ABDC] = %[—44—4+1o]

[ABDC]= %x (-39)

[ABDC ] =—-19sq.units
[ABDC ] =19sq.units

[ABDC]+[AABD] = 35,¥ABCDG"
19+53= 3 ¥ABCDG" 4
UK T2 = 3KABCDG" e




M

A(-3,2)

B(-1-4)

c(5.2)

(%, 1) = A4,-3)
(Xz’ yz) = B(81 5)

.05

3(8) +1(4). 3(5) +1(-3) j
3+1

m:n=3:1
P(x,y) = mx2+nx11my2+ny1j
m+n m+n
P(x,y)=
%) 3+1
24+4 15-3
P(xgy) = N
RS
28 12
PX! o e R
=2 4j

P(x,y)=(7,3)

M(x,y) =
M(x,y) =

M(x,y) =

M(x,y)=

.06

< B KABM¥

X, + %, m+wj
2 2

-3-1 2-4)

2 2
-4 -2
E“EJ
(-2-1)

e B KACN




MN = (X, =%)° + (Y, = ¥,)° NG y) = KR u}
MN =/(-2—-1)? + (-1-2)?
MN = (-3 + (-3 Ney)=
MN =9+9

MN =418 =32units  ...(i)
BC =l ) + (v~ Y. NGO 2
BC =/(5+1)% +(2+4)’

BC =./(6) + (6)°

BC =+/36+36

BC =+/72 =62units =2(3v/2)  ...(ii)

ER ) e

2MN=BC

I s (T s 25
0 Quadratic
Equations

BSIEISSIPa |

1514 | 13| 12| 11 10 9 8 7 6 5 4 3 2 1

C A B A D C B C B B C B B B

ezl ety LA

.02 01
r2=12+d2 143=x*-1
d2=r2-|? x?=143+1
d=+J/r2 12 X" =144
X = ++/144
X=+12




2x° +8x+k =0
a=2b=8,c=k

Uik £

~.b?—4ac=0
8°-4(2)(k) =0
64—-8k =0

8k =64

_o4

k —=k=8

.07

pX(x—2)+6=0
px®> —2px+6=0

-Ujd;tleg.f;?:

~.b®—4ac=0
(-2p)*=4(p)(6) =0
4p°=24p=0
4p(p-6)=0
4p=0= p=0
p=-6=0=p=6

.08

4x* —2x+6=0
a=4b=-2c=6
b? —4ac = (-2)? — 4(4)(6) = 4—64 = —60

.03

.04

x> —6x+9=0
X*=3x-3x+9=0
X(x - 3)—3(x-3) =0
(x=3)(x-3)=0
(x=3)°=0
(x=3)=0=>x=3

—e s X —BX+9=0=hleXx=3
ek 3X + 2k =3 =0 =hlx=-2.05

~.3(=2)2 +2k(-2)~3=0
3x4-4k-3=0
12-4k-3=0
9-4k =0
4k =9

9

k=22
4

.06




L 2%4+12

6
L _2£\16
6
2+4
X=——
6
x:ﬂ x=§=1
6 6
2-4 -2 1
X=—— - =_=
6 6 3

_éfcjf(v)/)'(iV)f(iii)c«!J'r‘i\(
.02

()x* +15x+50=0
x? +10X+5x+50=0
X(x+10)+5(x+10)=0
(x+10)(x+5)=0
X+10=0=x=-10
X+5=0=>x=-5

(IN(x—=4)(x+4)=6%
x> — 4% =6x
x*=6x-16=0

x* —8x+2x-16=0
X(x=8)+2(x—8)=0
(x—8)(x+2)=0
Xx—-8=0=x=8
X+2=0=>x=-2

_éfcjf(V)zjl(iV)‘(iii);«Ui/i’?

ezl ety £ A2
.01

()6x* +11x+3=0

a=6,b=11c=3
‘o —b++/b*—4ac
2a
- ~11+4/112 = 4(6)(3)
2x6
o\ ~11+121-72
12
o —11+/49
12
1147
V)
-11+7 -4 1
= = X=—=—=
12 12 3
y—11-7_ 18 3

=X
12 12 2

(ii)3x* —2x-1=0

a=3b=-2,c=-1

o —b++/b*-4ac
2a

_ (22 -43)(-D
2x3

X




_ngmﬁééc‘?ugﬁzﬁéw
#T=012
#21=41

.05

X =l E s
2 (x-5)= B MKl

,}/Kw:%xbxh

150=%><X><(X—5)

300 = x* —5x

x* —5x—-300=0

x* —20x+15x-300=0
X(x—=20)+15(x-20)=0
(x—-20)(x+15)=0
X—20=0= x=20
X+15=0=x=-15

_g_an;ﬁgc‘;“vg.ﬁ:ﬂéw
5 20=0 462k

2 15=5-20=0 5 MK eds

.03

Fx =g s,
Fox+2= QS
dugxdu=360
X(x+2) =195
x* +2x<195=0
X? ++15x -13x=195=0
X(x+15) —13(x +15)=0
(x+15)(x=13)=0
X+15=0= x=-15
Xx=13=0= x=13

‘Laﬂwg—"‘?u@ﬁ:‘?él/
213=(1z
2 15=(3

.04

Fex =G dE
#23x= QU
dugxdu=385

X(3x) =147
3x* =147
x2 =47

3
x? =49

N
7

H+  +

X
X =
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08 Introduction to
Trigonometry

SISy |

01 06 07 08 09 10
C C B B B D
Wl liy L s A1
A .01
tan2A =cot(A-18°)
0 cot(90—2A) = cot(A—18°)
B 90°-2A=A-18
A+2A=90"+18°
3A=108°
A= —108 =36"
3
.02
1
I tan30" = —
3
AB_ 1
AB_ 1
30 3
AB =2
J3
AB :§x£=%=1o\/§m
NERNC I




sin60° cos30° +sin30° cos60°

.03

sinH:E
AC? = AB® +BC?
BC? = AC* — AB?
BC?=4*-3°

BC’=16-9=7

BC =7

c.tand =

P

.04

secl = E
12

AC? = AB® + BC?
AB? = AC? —BC?
AB? =132 —12°

AB? =169-144 =25
AB? =/25

AB =5

stan@ = i
12

.05




ezl ety £ A2

.01
3cotA=4

4

AC? = AB? + BC?
AC®=4*+3"=16+9=25
AC =425

AC =5

-.sin A=§,cosA:£,tanA=§
5 5

cos® A=sin® A

516

16 9 7 )
=———=— .. Q)
25 25 25
1-tan’ A

1+tan’ A

3\ lJrg_16+9_25
1*() 16 16

2
1 (3) 9 16-9
4 16 16 7 .
= = = (1)

< (1))

1-tan® A

cos’ A—sin® A==———
1+tan“ A




.02

A+B+C =180
B+C =180-A
B+C 180-A
2 2

B+C 180 A
2. 2 2
B+C gy A
2 2

.03
LHS =sec A(1—sin A)(sec A+tan A)
—=l (1-sin A)( L, S'”Aj

COS A COSA COsA
(L—sin A)(1+sm A)

Ccos A COsS A
_ (A-sin A)(L+sin A)
a cos? A
_1-sin* A
~ cos® A
_ cos® A
 cos® A

=1=RHS

.04

_ cotA—cosA

LIHS=————
cot A+cos A

)
_ sin A _CosecA—1=R|_|S

cosA( 1A+1j cosecA+1




.05

_1+tan* A

~1+cot? A

_ sec’A

" cosec¥A
1

_Cos”A _ ST =tan® A= RHS
1 cos’ A

sin? A

LHS

ezl ety L S A3V

.01

LHS — cosé N sin@

1-tand 1-cotd
cosd N sin@
_sing 1_cosé’
cosé sin@

_ cosd N sin@
cos@—sing  sin@—cosd
cosd sing
_cos’ 8 . sin® @
 cos@-sin@ sind—cosd
_cos’d  sin®g
" cos@-sin® cosd—sind

_cos’ @—sin’ @

~ cos@-sing

_ (cos@—sin)(cos b +sin &)
- cosd—sin
=sind+cosf

=RHS

1




.02

1+cos¢9+ sind
sind  1+cosé
_ (1+cosd)’ +sin’ 0

- sin&(1+cos )

_ 1+2cos@+cos’ §+sin’ 0
- sin 9(1+ cos )
_ 1+2c0s0+1

~ sinO(1+cos o)

_ 2+20086

" sinO(1+cos o)

_ [ 2(1+c0sO).. 2
_sing(l+cosd) sino

LHS =

= 2cosecd = RHS

.04
tané cotd

= +
1-cot@ 1-tand
sin@ cosd

cosé n sin@
1- cosg . sin@
sinég, cosd
sin@ cosd

___Cos§ . sind
sin@—-cos@ cosd—sind

sin @ cosd
9 sin’ 0 cos’ &
N cosé(sin 8—cosb) ~sin 6(sin@—cos )
N 1 sin®6  cos’ @
4 (sine—cose)[cose " sing }
B 1 sin® 0 —cos® @
_(sinH—cosé?)( sin#cosd ]
B 1 (sinH—cosH)(sin20+cosza+sin9cosej
_(sine—cosé?)[ sin@cos
_ 1+sin@cosé
~ sinfcosd
_ 1 +sin0cos€
singcos® sindcosd
=1+secdcosecd
=RHS




sind—cos@ +1

sin@+cosd -1
sin@ cosé@ 1

- +
_Ccos@ cos@ cosé
sing N cosd 1

cos@d _cosé - cosd@
_tan@-1+secd

 tan@+1—secd
_ (tan@+seco) -1
“(tan @ =sec ) +1
_ {(tan @ +sec@) —1}(tan @ —secH)
- {(tan 6=sec @) + L}(tan & —sec O)
_ (tan® 9 —sec’ 0) —(tan @ —sec )
< {(tan @ —sec &) + 1}(tan 8 —sec 0)
—1—(tan & —sec )

{(tan 6 —sec @) + 1}(tan @ —sec )
. —(tan & —secH +1)
~ {(tan @ —sec §) + L}(tan 6 —sec H)

LHS =

-1
~ (tan & —sec6)
1
- __RHS
(secd—tan 6)
.05
1+tan® A
1+cot® A
a2
1+ smzA
__ Cos" A
2
Lt C?Sz A
sin® A
cos® A+sin® A 1
cos’A__ _cos’A_Sin“A_ tan? A ..(i)

CsinA+cos’ A 1 cos’ A
sin? A sin? A




(

[

I+tan* A
I+cot> A

(

l—mnAj
1—cotA

1-tan A
l1-cotA

jZ

. 2
1- sin A
__CcosA

1- 095A
sin A

. 2
cosA-sin A

cos A
sin A—cos A

sin A
—(sinA—cos A) Y’

cos A
sin A=cos A

2

sin A
cos A

2

sin A

=tan’ A

j =tan® A .. (ii)

< (1)91(1)




Some Applications

0 = Y e S (S
9 (1) Trigonomelry

01

Sm

60 £l Y

~‘LJg)’JAVCD/}’(jg)'J&/LfAB féul.

-—— U< ABDC
tan60°:C—D
BD
50
3=—
\/_ BD
BD:E
J3
-——U~AABD
tan30°:E
BD
1_AB
N
J3
p=2y L 30 452,
3 3 3




A C
L}bdﬂi‘}?tabg}.ugiPBufJ@-LLJ#U&&*»KU;/U’U)»AC/;l-‘ac,/lf’ui;l}f 8:ABA’¢«/U’J}"/5(~,{’PCIéUL
-t/ /BDPQ

ZQPB = /PBD =30’

(stsJs%)
ZQPA = /PAC =45

-~ APBD

tan 30° = E
BD

1_PD
J3 BD

BD =+/3PD

-~ APAC




tan 45’ = - =
AC

_PC
AC
PC =AC
PD+DC =AC
42 {A(3 +1) + 8y =Ll T AsUs PD+8=PD3 (- AC=BD,AB=DC=8m)
PD+3-PD =8
PD(\/3-1)=8
8 8. J3+1 8(\3+1)
"1 B 1 ARl (B L

PD = 8(‘511) - 8(‘/§Z’+1) = 4(3+1)

1

PD

7 AW3+Y) =y afeti sz 2

.03

e L0083 EUP-c J5 5L nAB S5

-———U~ AAPD

tan30° = E
AD

1_3
J3 AD
AD =33

--——U<~ APBD




L ABB
J3 AB+20\3
3AB = AB+204/3
3AB— AB =20+/3
2AB =204/3

AB:E%¥§=1OJ§n

AB 10V3 _

R

BC 10m

tan45° = 2
BD

3
" BD
BD =3
AB = AD + BD

AB =33 +3=3(/3+1)m
= 8(x/3+1) dB5dLn
.04

3¢ ol

20m: = B

-~ AABC
tan 60° = ﬁ
BC

N

BC
A8

NG (i)

-—-u-AABD

#

BC
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1 Statistics

.01
C-1 F X Fx
1-4 2.5 15
4-7 30 5.5 165
710 | 40 8.5 340
10-13 16 11.5 184
13-16 4 14.5 58
16-19 4 17.5 70
S f =100 > fx = 832
@ ,v/;(i)zgz%:%z
C-1 F cf
1-4 6
4e7 30 36
7100 | 40 76
10-13 16 92
13-16 | 4 96
16-19 | 4 100

|=7,cf =36, f =40,h=3




=7+

40

EJ><3
40

o}
40

=7+1.05=8.05

=7+

=7+

(i)

|=7,f =40, f,=30,f,=16,h=3
40-30
2x40-30-16

10 x3
80-46

30
)
~7+0.88
~7.88

=7+

=7+

=7+




.02

C-1 F X Fx
10-25 2 17.5 35.0
25-40 3 32.5 97.5
40-55 7 475 332.5
55-70 6 62.5 375.5
70-85 6 77.5 465.0
85- 6 92.5 555.0
100
> f=30 > fx =1860
. 03 fx 1860
6 ;L“,m(X):?:w:GZ
C-1 F cf
10-25 2 2
25-40 3 5
40-55 7 12
55-70 6 18
7085 6 24
85-100 6 30
| =55,cf =12, f =6,h=15
n —cf
(i) bes=1+| 2 xh




=55+

=55+

=55+

6

gj><l5
6

o)
6

15—12]><15

=55+7.5=62.5

(i)

| =40, f, =7,f,=3,f,=6,h=15

2x7-3-6
=40+ 4 x15
14-9
=40+ @j
5
=40+12
=52
.03
C-1 F X Fx
1-3 7 2 14
3-5 8 4 32
5-7 2 6 12
7-9 2 8 16
9-11 1 10 10
2 f=20 > fx=84
. . > fx 84
€)) n(X)==—=—=4.2
1 /)( ) Zf 20




C-1 F cf
1-3 7 7
3-5 8 15
5-7 2 17
7-9 2 19
9-11 1 20
n_20.4
2 2
1=3cf=7f=8h=2
E—cf
(i) lbes=1+ 2f xh
=3+ 10_7jx2
8
=3+ §)xZ
8
8
=3+0.75=3.75

(iii)

=3 =8f,=7f,=2,h=2
:3+[8——7sz
2x8—-7—-2
=3+( 1 ij
16-—-9
7
=3+0.28
=3.28




.04

| =5, f;=15,f,=9,f,=9,h=2

=5+ & X2
2x15-9-9

=5+ —ji— x 2
30—18]

=5+ E]
12

=5+1

.05




.06

.07




sSuriace Areas

1] foriae e
And Volumes

01
5= H b 26 sl 2 F
(% = 3.52g s/l

£ 12=15.5-3.5=6kf 21 ¢
S\ (1) =r? +n?

2
= (Z] +12°
2

:\/@+144:\/49+576
4 4

_[625_2s
4 2

SKM=CSAK.2 s F+CS Ak id

A= 7zrl +27r?
22 7 25 2 7 7

=—X—X—+2X—X—X—

=137.5+77
=214.5 cm?

.02

2 1=58 2 F
A= 43g  Jis
2= s o 1
H2.8=6ASS 2 F ¥

- 4m o




3K =CSAK.2 s F+CSAK. 25
=zrl+2zrh
=nx2x28+2nrx2x2.1
=27(2.8+4.2)

2 500= 2 €U 28 ]

-25,22000=44x500 =g 26+ ¢ 44

.03

4 : 4= NS S iy 4

= T ~1.4= 56 2
24 j

¢ cm £ 0.7=45 2K 2 Jis

S F iz (1) =rF+h?
=0.49+5.76
=6.25=25cm

TSA=CSAK.2(f1 F+CSAK 2 Ji5H 3 ol L2151

A= 7zrl + 27rh + zr?

=§X0-7><2.5+2><§><0.7x2.4+§><0.7><0,7

=44x24+2.2x25+2.2x0.7
=10.56+5.50+1.54

=17.60 cm?




Zeom

& cm

4 cm

15 em

04
8=k i

A=) Bidg o B

- 8—: ) P o i
AP AT

.
3

3
=gﬂ(8—25] +7(1)(8)
=346.82 cm®

-lﬁ’w,:‘f.u
.05

A=) F I 2§ g
F10=(rP B idf 2 &

FLS=UASUEF L f

2 Knd Lt I=CSAF + 5620

=z (r, + 1) + 71}

= 7(10+4)15+ 7(4)’
=2107+167
22 . 2

= 226x 25 =710< cm’
7 7
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4 Jbegels | 01
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2 =SLdue | 04
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3 (Ogive)gzs | 06
2 Floed WU io bl | 07
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4 oSk o6 AP | 10
42+2) e 2 A | 1]
2 S | 12
4 VS bt | 13
2 L e kB v i EE il | 14
3 (R NS skt | 15
2 SIS dis 225 | 16
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